% ol & rolx Y7t 1 9l 7P e &

T A3, 4
45 ot
» g
> &®E: 13

3, 4 9 HAFHhE 12 0lB2 Fohe AAFE 1241 =13




2.

5 2 URolk 30] g1, 6 282 Yrolk 3 o] Y= Zd4 F 100
olste] A5 B Fotofet,

o

v VvV Vv v v Y
0
L

33
HE D 63
HE D 93

B ~

Tt S5, 6 9 BEjSRTE 3 vE 2 4 Z 100 ©]519)
geoltt, o], 5, 6 2] HAFHISE 30 °O|B=Z 5, 6 2] FHiGE
30,60, --- ©]tt.

wrata] F5h= = 33,63,93 ©|tt.




ohE EE B RO 0] B2 Astetel £AHE Aole)
(D) | Y | (Y | (+2) | (+2)
(-3) | (:3) | (+2) | (+2) | (+2)
(-2) | (2) | (1) | (+1) | (+1)
(+1) | (+1) | (+1) | (4) | (-4
> E
> E
> =
> E:
> " 4
> ®MEH 72FE 472
> "E! 4EE+4
> HEH 16 B2 +16
S8
(=1) x (=1) x (=1) x (+2) x (+2)
=(-1)x(+4) = -4
(=3) X (=3) x (+2) x (+2) x (+2)
= (+9) x (+8) = 72
(=2) x (=2) x (+1) x (+1) x (+1)
=(+4)x (+1) =4
(+1) X (+1) X (+1) x (=4) x (-4)
= (+1) x (+16) = 16




4 (-0 - (1) - 190 & Ansfofat,
=1

>
> X 1

(0¥ =-1, ()*F =1
1-(-1)-1=1+41-1=1




g 514 golA] AR AB £ 3

cl1e2 YyRE=H
T5todat,
A C B
—9 - 10
> E
> ™t 1EE 47

1o
Y
ke
it

A SFB Aol A ¢ 12
Asz}cx}owwm:mxzzg
CofxE: (-2)+9=7




6. 20 ©] k0] 49} 32 x 7 O] oF40] A% 2 W, AHd a o]
ake Fatolat,

> E:

> ™eh: 1

B

20 = 22 x 5 9] oF50] A
(2+1)x(1+1) =6 (H) °lek.

32 x 70 9] o¥e0] A
(241) x (a+1) = 6 (7H) 7} =loloF Frek,

La=1




3 x 5% x 20 9 oF9] |47t 72 A wf, x & -otoet
[
| —

| 2
[> b=

ok =

B

3'Xx52x20=22x3"x5 o|B=Z
oFr o] =
@+1)x(x+1)x3+1)=72(7N)
T x=05




